Friday 8th May 2020
Lesson 5 EXTENSION: reasoning & problem solving

1. [image: ]Helen says she has the same amount of money as Adam. 




Is she correct? Explain your answer.

2. [image: ]Solve the word problem. Draw out your workings to help you.






3. Solve the word problem. Draw out your workings to help you.
[image: ]






4. Freddy has the following money:
[image: ]






He says it’s possible to make the same amount using exactly 2 notes and 1 coin.
Is he correct? Convince me.
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1a. Danny says he has the same amount
of money as Nicole.

Is he correct?
Explain your answer.

)¢

1b. Helen says she has the same amount
of money as Adam.

L L

Helen

Adam

Is she correct?
Explain your answer.

¢

2a. Solve the word problem.

2b. Solve the word problem.
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Is she correct?
Explain your answer.

Is he correct?
Explain your answer.

Y

5a. Solve the word problem. 5b. Solve the word problem.
Rebecca has three coins and a note. Angela has six coins.
Michael has five coins. Stephen has one note and two coins.

They each have £6 and 20p in total. They each have £5 and 3p in total.

What combination of money could What combination of money could
Rebecca and Michael have? Angela and Stephen have?

1513
B

" 29/04/2020 Y22




image3.png
@ Year-2-Autumn-Block-3 X

&~ - O @w @ | file///C:/Users/Teacher/AppData/Local/Temp/Temp1_Year-2-Autumn-Block-3-Step-5-Make-the-Same-Amount zip/Year-2-Autumn-Block-3-Step-5-F 3¢ = 7. &

4+ [loisHIEFe - Fittopage (M) Pageview | A) Readaloud /. Addnotes @ E & |

9a. Freddy has the following money: 9b. Clive has the following money:

’ ‘ @ ” Five lots of .'@ ’ .

£1 coins

" Five lots of 10 @ 7 Tenlots of 50
‘ pence pieces @ ‘ § ) pence pieces

£5 ‘
1 5 '.' Three lots
‘ @ of £2 coins
He says it's possible to make the same He says it's possible to make the same

amount using exactly 2 notes and 1 coin. | amount using exactly 3 notes and 3
coins.

Is he correct? Convince me. Is he correct? Convince me.
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